QUESTG-CE QUE LE CADEAU? (F)
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Quel nombre se trouve dans chaque cadeau?
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QU'EST-CE€ QUE LE CADEAU? (F) SOLUTGIONS

Quel nombre se trouve dans chaque cadeau?

31 - 21 = 10 28 - 9 - 3 = 8
7 - 3 = 4 29 - 4 - 21 = 4
10 - 4 = 6 13 - 8 - 18 = 19
5 - 3 = 2 29 - 17 - 21 = 9
22 - 13 = 9 29 - 20 - 20 = 2
39 -] 20 = 19 48 - 23 -1021 = 2
29 - 7 |= 22 36 - 23 -1 3 |= 5
37 - 17 |= 20 42 - 23 -1 25 |= 13
21 - 17 = 4 8 - 5 -2 1= 20
20 - 11 = 9 33 - 11 -7 = 19
24 |- 19 = 5 29 |- 14 - 23 =9
44 - 19 = 25 21 |- 12 - 12 = 20
24 |- 15 = 9 25 |- 14 - 17 = 9
45 |- 20 = 25 21 |- 4 - 12 = 20
29 |- 17 = 12 46 |- 22 - 2 = 2
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